GENERAL SCIENCE IMP QUESTION / SAMPLE PAPER - 30

Q221. If a person moves a trolley for a distance of 10 m with a force of 50 N, then the work done is:

IfE 1S cafFd 50 N & aet & FHe 2Tell & 10 HieT T gt a0 of ST g, A fham s s &

A. 0.2)
B. 5J
C. 20J
D. 500]J

Sol-

Force acting on the trolley (F) =50 N

Distance travelled by trolled (s) =10 m

Total work is done W=F x s
=50x10= 5001

The total work done is 500 joules.

el IR I F¥et aTelT 5 (F) = 50 N
el (31) AT AT H IS g =10 m
Fel R FRATI—TW = F x5

=50 x 10 500 St

foam 31T et I 500 ST B 1

Q222. Which of the following represents the Snell's law?

RATET H T Hid &d & Faa AR swarg

sine of angle of incidence/sine of angle of refraction = constant

cosine of angle of incidence/cosine of angle of refraction = constant
tangent of angle of incidence/tangent of angle of refraction = constant
angle of incidence - angle of refraction=constant

on®wx

Sol-

The ratio of sine of angle of incidence to the sine of angle of refraction is a constant, for the light of a given
colour and for the given pair of media.

This law is also known as Snell’s law of refraction.

HTOIcTT 10T hT AT A I9eTctel hI0T hT AT T 3eTaTel fohely few 91T Tar 3 wreprer & forw 3t Az fow
T I & oI Teh TR & |
5 fH 1 T4l & 3H9acTe o A & &9 7 8 S S g |

Q223. Water evaporates under atmospheric pressure. Without changing the temperature, the same water is
placed in partial vacuum. The rate of evaporation will:-

TetY ATATER ORI FeTa 3 a9 ST & | dT9HTe T dgel (1T SHT ITel &t 3111 e TATT A @I AT & |
awmwwaﬁraa’ﬁﬁ:-
A. increase /ded
B. drop to zero /Q‘WWWQ@W
C. decrease /gcd
D. remain unaffected /fRdT ﬁmﬁﬂﬁ
Sol-
In partial pressure, the pressure is less;

According to Le-chatlier's principle on decreasing pressure; volume increases, so more water into gas(vapour)
So, rate of evaporation increases.

311 a1 #, ga1g FA AT E;
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T Ga1d TR - o & Al & 3(THR; 3T S6dT &, SATaT 34 # 31fRre qrel (arsd) g, arsdisor
PRI TG AL

Q224. Atomic numbers of four elements are as follows: F(9), P(15), Cl (17), Ar(18). Which of the following two
elements would be chemically similar?

R dcdl Y GRATI] HEATTH TR ¢ : F(9), P(15), CIY(17), Ar(18) SoT8 & ahieT HI T 1] THRIfoleh &9 &

qAFIE ?
A. FandAr
B. ClandP
C. FandP
D. Fanddl
SOl-

Fluorine (F) and chlorine (Cl) are chemically similar because both of them belong to the family of halogens.

TFARIST (F) 3R &R (Cl) TATAfS &9 8 AT § F211eh J Gl geliofe] & IRaR J Hafd g

Element (Atomic No| Group c:,:;;tl:?:ti;n
E 9 Group 17 2,7
P 15 Group 15 285
cl 17 Group 17 28,7
Ar 18 Group 18 2838

Q225. The pH value increases from 7 to 14 represents a:
pH AT & 7 14 Tk T Jefar geiei & -

A. decrease in H+ ion concentration/ H+3-1T~’FT@TFEF|T3§3~TF‘T

B. decrease in OH - ion concentration / OH - maﬁrmﬁm
C. increase in OH - ion concentration/ OH - W@fﬂmﬁq@
D

increase in H+ ion concentration/ H+ 3T T Figd ﬁq@

Sol-
As the pH value increases from 7 to 14, it represents an increase in the OH- ion concentration.
pH scale determines the acidity or basicity of the solution.

SH-SH8 Q1T AT 7 8 14 e 9601 &, T8 OH- 3T Figdll 7 e e 1 Jfafaf@ica Far g
pH e Taeret T 1oeldT AT 8TRedT e aRaT &1

Q226. Which of the following tissues are responsible for the secondary growth of plants?

TrrTaITre 31 & i T 3reieh eit B el gafer & fore seeard &2

A. Cortex /ﬁéﬁ

B. Cambium /HiaTd
C. Phloem /q—T*ﬂ'UTT
D. Xylem /SlTSelH

Sol

Plants' secondary growth is controlled by the vascular cambium.

It is a thin layer of cells that separates the xylem and phloem in plants.

With the plant's secondary growth, which increases its girth size, these cells divide and multiply.
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dteif T gfachae gefer dage HiFas garT AR g1 g
I PITAST3T T Teh Tdell TR & St Gieit & Fserd 3R Fllvs 1 3o HLdl &
ot & gfarciiaes et & A, St 36 IR & 3R &1 96Tar 8, T AT fFeniora 3K agom a8

Q227. What is the relative molecular mass of atmospheric oxygen?

AGHSAT TSIl T HIIET 10T GeaH T FAT 52

A. 18 amu
B. 16amu
C. 32amu
D. 64amu

Sol-

Mass at the atomic scale is measured in atomic mass units (amu), one amu is the average of the masses of a
neutron and proton in their stationary state

Atmospheric oxygen is present in the form of molecule with chemical formula O,

As there are two atoms of oxygen we double the mass of a single oxygen atom 16 x 2 = 32 units

THATI] FATeY TR GEIHATS T TLHATY] G ShISAT (TF) 7 AT STl §, Th TH T il 3R Hieiet
Sofeh TEUR 3aET & geg#lTe o1 g grar g

AGHSAT STl 370] & &9 H THATAS G 0, & AT A &

T 3iTereToTet & &l TRATIT 81t &, ST 53 Ueh 3iTareiToTet IREATO] & GeaaTeT b QII[AT & &l & 16 x 2 = 32
SHhTS

Q228. Acceleration in a body by an unbalanced force is

Teh I Il el SaRT IR H caoT 8
A. proportional of force /W?P?I'IF‘FI?‘T
B. inverse of force /T & TaWId
C. remains independent of force effect /ool THTT § T 38T
D. always remains zero /Bfﬁf?lT %]EIET—IT%

Sol-

e  Acceleration is the rate of change of velocity of an object with respect to time.

e Anobject's acceleration is the net result of any and all forces acting on the object, as described by
Newton's Second Law.

e Newton's second law of motion can be formally stated as follows: The acceleration of an object as
produced by a net force is directly proportional to the magnitude of the net force, in the same direction as
the net force, and inversely proportional to the mass of the object

o CHOTHAT & Har H FRe a&q] & 97T A TRact H1 eI gl

o Y A TAGH & 3HTHR TE] I caX0T a] T R it arel fondly 8fr 3R Feft et a1 greer
aRomaA &1

o gCe A & AR [TH T 3TaTReh &9 @ FATHR 8T 51 Hehell §: Teh YT Sef GaRT 3ot
TE T caROT Y el o IRATOT o FATTAT BT &, 3T e & ety 7o o &9 #, 3R g A &
SSHATTII 81T § I

Q229. What is called a substance when it is made from combination in a certain proportion of two or more
elements?

aramar & 31fRe deal & Uen A RE 3eTdTel ¥ HAISTeT § Sietel TR TGTeY ohl 3T gl STTell 67
A. pure element /Qﬁﬂaﬁ
B. compound /f&OT
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C. pure mixture /[EET GE

D. pure liquid /¥ cXel

Sol-

e A substance consisting of atoms or ions of two or more different elements in definite proportions joined
by chemical bonds into a molecule is a compound.

e The elements cannot be separated by physical means. Water, for example, is a compound having two
hydrogen atoms and one oxygen atom per molecule.

o TATAI Y 3T faffieet Acal & TRATILHT AT 3=t & FATRE 3re7oTet ¥ T feies et & Ueh 37 3
CEQICIECDRE R I CIC A

o Ccal @t Hife AU @ 3reraT 6T T ST HeclT § | 3aTeI0T & foIT, urelt ven Aifdtens § forad ufay oy et
BTSSIoTeT IRATY] 31 Ueh HTeRfIaTeT TRATO] BTl |

Q230. Which is the last phase of Mitosis?

AR 1 AT TRuTHIT TATR?

A. prophase /9Tthal

B. Metaphase /ﬁ'El'eﬁ{
C. Anaphase /UFTI'QW;T
D. Telophase /&reithat

Sol-
Interphase - Prophase - Metaphase - Anaphase - Telophase

STl > Wbl > HeTthel - TaAThal > Ealthel

Interphase Prophase Prometaphase Metaphase Anaphase Telophase
s 2 -
- & / A [\
7 "AARRG
o —»{ el — 2 A e ', ‘4 - Cytokinesis
> ¥z o |
‘ v VWY
(L5
4. Chromosomes 4. In the nucleus, “4.The nuclear membrane 4. The copied 4. Chromosomes “ Nuclear membranes Ao

duplicate, and the chromosomes breaks apart, and the chromosomes separate into form around each of A
copies remain condense and spindle starts to interact align in the middle two genetically the two sets of
attached to each become visible. with the chromosomes. of the spindle. identical groups chromosomes, the

other. In the cytoplasm, and move to opposite chromosomes

“The cell splits into

the spindle forms.

Q231. Light reflecting from surface of sea rocks is an example of:

ends of the spindle.

HHGT AT Sh Helg W I il glet Aol JehlRT SHePT Teh 3aT60T o

o 0w >

Sol-

Regular reflection /faafaa wfafss
Diffused reflection /faaRa ufafae
Total internal reflection /gﬁrmﬁa?qf?rﬁa

None of these /gﬂﬁﬁaﬂéﬂ’é"r

begin to spread
out, and the spindle
begins to break down.

two daughter cells,
each with the same
number of
chromosomes

as the parent. In
humans, such cells
have two copies of
23 chromosomes
and are called
diploid.

When a light ray is reflected in many directions from a surface like a rock, it is called as diffused (or Irregular)

reflection.
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ST IS TehTer fahoT Teere SIEl Tde & s a3t & wrafda gidr €, o 5@ faaRa (@ sifeafad) wade

el

AT
Regular Reflection Diffuse Reflection

Incident rays Reflected Rays Incident rays

= Reflected Rays

Eg. plane mirror or any other surface This is like any surface that we can

Q23

that produces a reflected image. see but does not reflect an image

2. A car engine is an example of:-

Teh X SoTe] T 3GTEL0T g:-

Sol-

A. internal combustion engine/mmm

B. external combustion engine/ﬁ'l%'ﬁ'a%?rga?r

C. neither internal nor external combustion engine /3T AY 3R 3R 7 ST S8 Solel
D. both internal and external combustion / gIaT 3TdRe 31X a8 ggeT

A car engine is an example of an internal combustion engine. Internal-combustion engine, any of a group
of devices in which the reactants of combustion (oxidizer and fuel) and the products of combustion serve
as the working fluids of the engine.

Such an engine gains its energy from heat released during the combustion of the unreacted working fluids,
the oxidizer-fuel mixture.

This process occurs within the engine and is part of the thermodynamic cycle of the device.

Useful work generated by an internal-combustion (IC) engine results from the hot gaseous products of
combustion acting on moving surfaces of the engine, such as the face of a piston, a turbine blade, or a
nozzle.

I T STl Tl eh GgeT GoteT hl Ueh 3AIEUT & | ITAND-Ggel Solel, STRUI o Hag H A s oY Toraed
g8 & ATAPRS (3TFIEEeR 3R $4) 3R &g & 3G SoTeT & H1H I dTel dlel ST & &7
FHIA G

AT §5TeT UTAfRaT o1 fohT 31T e X I axel UeTd, HTFHIsEoR-se fH40T & g8 & aRTeT STRY T &
YT FAT ITed FRAT & |

g UTehaT STt o 3fTaR 81T & 31K FBarsy & ywfsr=Tas o & Rear gl

AR D-cge (TSN STl SaRT 3ot 3TAIN BT o7t T TeTcl Felgl, S ATe, e soig, IT
ATl 3 WY W HIH el aTel &gT & I3 T 3cUTET & IRUTHETRY gl g |

Q233. The electron affinity of chlorine is highest than that of fluorine due to—

FNeT T FereFeTel St el Feilel & HAH AN g, __ &FHROT

Sol-

Its highest reactivity / 38T 3Tadd IfafhaT g

Bigger size / ST 3TehX

Difference in their electronic configuration / msaa—gﬁa?ﬁ%wﬁ%mﬁm
Smaller nuclear charge / BﬁETWWIW

o 0w >

Electron affinity is the energy released when an electron is gained by a gaseous atom to form a negatively
charged ion.
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e Halogens have a strong tendency to gain one electron in their valence shell to attain the nearest noble gas
configuration.

e  Fluorine belongs to the second period and is smaller in size than chlorine which belongs to the third
period.

o Solarglel SEAT dg Foil ¢ Sl Ueh AT GATY] GaRT HOMcH & { AT e Fo11ed & fow ves
SolFgTeT UTed el W Aol &

o TAhcaH e A Faeare Ured et & ToT gelttet & UIH 370e do5H Aol 3 Teh SoleFelal TToel et T
EEEREIRECIE

o TRINIeT GERT 3TaT & HaT & 3R FoIeT T Jofell 31 3TN 3 BT § Sff ey 37T & Hafera 8

Q234. The calculation of electronegativities was first done by-

SolargleTelfCTACTST T IT0TeAT Tgel IR fohd oh GaRT 315 201?

A. Slater /WET

B. Pauling /9ifelaT

C. Bohr/dI%

D. Mulliken/ﬂm

Sol-

e The calculation of electronegativity was first done by Linus Pauling.

e Electronegativity is the ability of an atom in a chemical compound to attract electrons or electron density
toward itself within a covalent bond.

Electronegativity depends upon the force of attraction between the nucleus and bonding electrons in the
outer shell.

Electronegativity of any given element is not constant.

e It varies according to the element to which it is bound.

It is not a measurable quantity. It is only a relative number.

Electronegativity of an element is determined through Mulliken scale, and electronegativity difference of
two elements is calculated through polling scale.

Allred Roschow's scale is also used to calculate the electronegativity of an atom.

o SRRSO Ha gl fokega AT o iy o

o SAFCITATAE Uk TETATAS AN 7 Tk TgTANSTh S8 o 3R Solel=il AT SoleFeiel Helcd T
3T 3R TR T et T &TATT |

o SAFCITNTIIL STE IR F Y fFerad 3R S5 Soiaeia & S IMHY0T Fef TR AR AT |

ferely ferw aTw ear o e ol FuTTeHehall [ER €T Bl & |

Ig 38 dcd & 3THR dereicll Wl & T ag ST glar g

g AT AT AT 181 & | T§ hd ol Ueh ATIET TEATR |

o e B SRR Aot Tt th AL A Fovefifer 1 STl §, 3tk @) avealt 35

SolaraleTa e TacT AR &I ITOTAT GifoiaT Tahel & ATETH J HT AT §

TolS AT 3 UATe T 3TN Rl RATU] Y Fae g RUTIeHehdT hr IT0TeT 3 forw off femam ST g1

Q235. The lustre of the metal is because of
T 1 A fhEh HROTEI &
A. High polish /3= Gfforar
B. High density, due to closed pack of atoms /3=d Yalcd, qmrvpﬁawaiat}awa:a?r{w
C. Absorption of light due to the presence of cavities /@ﬁﬁﬂﬁaﬁimwrwmam



Sol-
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D. Reflection of light due to the presence of free electrons /UEIDEF{ 3@?3;3. Fr 3uftafa & HROT Jehrer
T Rl

The lustre of metals is because of reflection of light due to the presence of free electrons.

When metals are in their pure form they have shining surface and it is called metallic lustre.

Metals have a lot of free moving electrons on their surface hence when light strikes the surface of metal
they will be reflected by free electrons in a specular reflection (Light reflected in a pointed direction rather
than diffused reflection).

When these metals are in the open air they tend to react with elements like carbon, oxygen and form a
thin layer of coating on the surface of metals.

Thus metals lose their lustre.

This lustre can be brought back by either polishing the surface of metal or treating it with suitable
chemicals.

3T T THE Herd SIFeloll hl 3UTEATC 3 HROT FehT2r & RIdcieT & HROT gleh & |

ST HITTC 39T YT & # EIcil § Al SoTehl THER Felg Bleil ¢ 3R 3 Ulfcaeh T THeT STl ¢ |

STIHT T TAE T TG TR Herc IAHTA SeIaeiol 81 & AT STl FehIRT 1] BT Hefg A TR N
FHeFcl GOl GaRT TUFGER RTdcTeT 3 TRIATcIel 81 ST § (Fehrer faaRet SRrareler o Soiry Ueh afehier
e & Rrafda @ )|

ST & UTT it §aT 3 BIelt & af & Freled, JHardiote oI deal & A wfafar el § 3K ar3it i aas
R Teh Telell IR AT & |

S YR LI 31+ T7 @ &t

SH TH I U] T Tlg T Il Fleh AT STGercl THIAT 3 I SATST ek ATTH AT ST Hebell o |

Q235. What is the chemical name of 'Alum'?

el T TTTATAS ATH FATE ?

Sol-

A. Aluminium chloride /E'F{J)ﬁfﬁ'q?:ra-?ﬂ?l%_s'
B. Aluminium iodide /TegfATATH 3MASTSS
C. Aluminium sulphate /UWFW

D. Aluminium nitrate /U@ﬁﬁ'ﬂﬂﬁ'lgﬁ?

An alum is a type of chemical compound, usually a hydrated double sulfate salt of aluminium with general
formula XAI(SO 4) 2-12H ,0.

In most industries, the name "alum" (or "papermaker's alum") is used to refer to aluminium sulfate which
is used for most industrial flocculation.

In medicine, "alum" may also refer to aluminium hydroxide gel used as a vaccine adjuvant.

Aluminium chloride(AICls) is also known as aluminium trichloride.

Aluminium iodide(Als) is a chemical compound containing only aluminium and iodine.

Aluminium nitrate is a white, water-soluble salt of aluminium and nitric acid, most commonly existing as
the crystalline hydrate, aluminium nitrate nonahydrate, Al(NOs3)3-9H,0.

Toheendl Teh Yeh T AT Toteh A aTeh B, AN T ATHTT F XAI(SO4) 212H ;0 & 6 oI I i gs
FI §IS3CS Sacl Tothe oIH e |

JfRreRTer 3N #, "Teld" (AT "JuRART T Theerdl") SATH T 3TN TogA A 1 HE A it &
WWW%,WWMQTmﬂocculation F foT fFar SATar g

Rifrcar 1, "Rl e derelieT Tgres & §9 7 3UANT fhT ST aTel T T grsgiarangs siel &l
#r Soorg I ThaT |

TTRTATH FARTSS (ACl) Y TegTATATH ZEFelNIES & oA1H & 8 ST ST g |
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o TIATATH RANSTSS (Alls) T TERITe A § et shael Tegaliforas iR smida gar |
o THARNIA ASLE TogHITH 3R ATsieen TRls &1 U Tthe, Teil H golereiiel sHeh g, S AR 9T
fheeli aTs3e, TegaNforad Tsee Alesse, & 9  Aleg a1 |

Q236. Going from Lithium to Fluorine electronegativity

IR & weliet ST e e 3 STl
A. Increases /dgdl &
B. First decreases then increases /qgﬁaa?n%ﬁw‘{aw%
C. Remains constant /AR TEaTE
D. Decreases /HHBI ST

Sol-

e Lithium to Fluorine electronegativity increases.

e Electronegativity is defined as the ability of an atom in a chemical compound to attract a shared electron
to itself. Going from fluorine to chlorine, to bromine and then to iodine, electronegativity decreases.
The electronegativity increases across a period from left to right. Example: Lithium to Fluorine.
Electronegativity decreases from top to bottom in a group. Example: Fluorine to Astatine.

The Pauling scale is widely used to measure electronegativity.

fafTe & welie soagefefad ag S &1

o Solagladfefad &Y U Tarafae AT 7 Teh GRATI] Y &THT o &9 H Teh AT Selarelel i 379e0 3
TR et T &THAT o & F IRATT foram a1am § | Fellier & Tk, ST AR R 38 7 St
TR GAFCIANCTAET ol BT STl B |

STU A &I fehdll 37Tarct H e el RUTcHRT 6 & | 3aTeXT: fafags & weirlie|

o THTHE H FW U A deh [qegd RUTcH AT Tl ST & SETEI0T: FARleT § Tefes|

o SOFCITINNCTICET T AT o forT TifelaT ToheT ST SATYSH T & YT fohdT SATAT & |

Q237. C11-L-methyl-methionine is used for:
C11-L-TAusa-AfAAAT 1 3uier foras fhar Srar g2
A. brain tumor and parathyroid imaging /W@FS—T\TWWW
B. stomach analysis / 9€ T TaelyoT
C. bone imaging / SieT SHTSTAT
D. live imaging / oIS SATSIAT
Sol-
For many years, [11C]MET was used for brain imaging of gliomas, astrocytomas, oligodendrogliomas, and

other malignant brain tumors [PubMed]. [11C]MET PET is useful to evaluate low-grade brain tumors and their
responses to treatment

FS gt o v, (1187 THSE ST 39T T3, tegrarseag, 3foenssifTeraard 3R 31 ards s
TIFR [TSAS] o ATETSeh SHTIT & ToIT foham aram AT [118) AT NSE [a=1- 40T & 5o PR R 3T &
et 3eTehr wiAfehan3it st Feiehet et & ol 3Ue § |

Q238. Type metal used in printing press is an alloy of:
HeoTord A Y <39 UTd fhash fRAsorgia g 2
lead and copper/ T 31 areT

lead and antimony/?ﬂﬂT&ﬁTU‘aﬂﬁT

lead and bismuth/ T&T 3 AT

lead and zinc/ ¥ET 31T ST

o 0w >



Sol-
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In printing, type metal (sometimes called hot metal) refers to the metal alloys used in traditional typefounding

and

hot metal typesetting.

e Leadis the main constituent of these alloys.

e Antimony and tin are added to make the character produced durable and tough while reducing the
difference between the coefficients of expansion of the matrix and the alloy.

e Cheap, plentifully available as galena and easily workable, lead has many of the ideal characteristics,
but on its own it lacks the necessary hardness and does not make castings with sharp details because
molten lead shrinks and sags when it cools to a solid.

AT &, ersu Ao (FIN-F3 gTc Ao FaT ST §) IRIRE SSUH3 1397 3R gic Acd ersgafen &

SRIeFe T TR T3t oY e ot T 81

o ¥ s [y st g Hew B

o Afgerd IR s a1 & FIEaR & I[0Tieh & ey HR T A A U IR Y ehrs 3R Ted T
& fore e 3R T A SgT S B

. m-—cT,Wéﬂﬁm%mﬁmwmﬁmmmﬁwﬁﬁmﬁﬁaw
BT &, IfeheT 379eY 31T 3 ST 3MTaRTH FHORAT T 3THTT 81T & 3R TR Taavor & Frer wifEear s1gr
R & ST Teh TereT g31m T fiehs STTaT & 31 T o1d # ST 1 ST & |

Q239. The freezer in a refrigerator is fitted near the top

fordT TRToReT & BHIT o Y & e RmaAT ST g -

Sol-

A. to keep it away from hot compressor which is nearer to the bottom/ Hlﬁ?q?mmﬁ@'@ﬁ
GEEE:EIERIGIEY

B. because of convenience/ WWW?W I

C. it facilitates convection currents/ %Wﬂmﬁwm%l

D. to minimise power consumption/ ﬁagﬁmwaﬁwmﬁavﬁm

The freezer in a refrigerator is fitted near the top so that it can cool the whole interior by setting up
convection currents.

Most household freezers maintain temperatures from (-23 to -18 degree C), although some freezer-only
units can achieve (-34 degree C), and lower.

Refrigerators generally do not achieve lower than (-23 degree C), since the same coolant loop serves both
compartments: Lowering the freezer compartment temperature excessively causes difficulties in
maintaining above-freezing temperature in the refrigerator compartment.

Domestic freezers can be included as a separate compartment in a refrigerator, or can be a separate
appliance.

Domestic freezers are generally upright units resembling refrigerators, or chests (resembling upright units
laid on their backs).

Many upright modern freezers come with an ice dispenser built into their door.

Teh IThoReT 7 Shrait T 2N o ar fthe Toham STl & difes T8 HagsT YRT3T & AT e R SERA
FI SSTH Goh |

HTARIRT TR IS ATIATE (-23 H -18 T3 AT e ST TW &, BTellfoh F& hrsR-ahdel STz
(-34 T3af Afcaaw) 317 &3 urcd T AT § 1

UFERET AR I (-23 330 Afcwad) & 3 IIed 781 Hd &, Fifeh Ueh &1 2Mcleles o[d alel fSeal 7
BT P & SIS el o ATTATST BT 3T Thdl el H IhoRed [Sed H FUI-68 dTTHTT Sl FATT
TG H HISATS BT B

B PTG T YRS & Teh 37e19T TSsal o & & QMMTH fohaT ST HehdlT &, AT Teh 370197 SYIUT 81 Hehell
gl
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o TIPSR 3T Y IX IBhoNex, AT IEe SHET Hieh garrsal gl & (3oTehl N6 T’ TET 315 SHTIGR Sahrsdr
& HAT) |

o FYSHATICR Y HIGR 3eTch clalol H Teh ITSH ST o HIY AT & |



